
 

 
ΑΠΑΝΤΗΣΕΙΣ ΣΤΟ ΔΙΑΓΩΝΙΣΜΑ Γ΄ ΛΥΚΕΙΟΥ ΜΑΘΗΜΑΤΙΚΩΝ ΚΑΤΕΥΘΥΝΣΗΣ Κυριακή 24 Οκτωβρίου 2010  Ζήτημα 1ο Α. Θεωρία Β. Θεωρία Γ. α(Σ), β(Λ), γ(Λ), δ(Σ)   Ζήτημα 2ο i) (1 )( ) 2 2i x yi     

( 2) ( ) 2x y y x i      
2 2( 2) ( ) 2x y y x      

x2+y2-2x-2y=0 
2 2 2( 1) ( 1) ( 2)x y     

Κύκλος με Κ(1, 1), ρ= 2  ii) 2 2 4i i      
( 2) ( 2) ( 4)x y i x y i       

2 2 2 2( 2) ( 2) ( 4)x y x y       
Ευθεία ε: y=x-4 

iii) min ( , ) 2 2 2 2z d p         
όπου 4( , ) 2 22d      

 Ζήτημα 3ο 
Α. i)  2
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 ii)  Θέτουμε u=f(x) Αν 1x  , 12u    
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Β.  i)  3
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 Από Κ.Π.: 3lim ( ) 6x f x   

 
 ii)  Για x<3: 2 3 6 ( ) 6 3x f x x      
  2 3 6 ( ) 6 13 3x f xx x      
  3 3

2 3 6 12( 3)lim lim 13 ( 3)(2 3 6)x x
x xx x x  
      

  3lim 1 1x    
  Από Κ.Π. 3

( ) 6lim 13x
f xx 

   
  Ζήτημα 4ο Α. -1 < 1   3= f(-1) > f(1)= 2 άρα η f             και ‘’1-1’’. 
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 Β. Για κάθε 1 2,x x A  με 1 2x x  
 213 3xx   
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 Άρα η f   

 
2 9 2 3

2
2
2

1 1( ) 2( 9) ( ) 2 63 3( 9) ( 3)
9 3

6 0

x xx x
f x f x
x x
x x

     
  

  
  

 

 Άρα x= -2 ή x= 3                 
 
 

 
 


